[ normalized x? probability |

107t Entries 0.7

0.6
1072
0.5

-3
10 0.4

107 03

0.2]
0.3
g @
T
o 1.5
b R A N &
T R Ay Y il 4 1
0 2 4 6 8 10 12 14 16 18 20 0 010203040506070809 1
X2 Prob(x?)
=== DQMstep3_TT_CKF
m—— DOMstep3_TT_default
— DQMstep3_TT_ckfPixelLess
DQMstep3_TT_default-relf2
DQMstep3 TT_defaultNEWTOLDSAMPLE-relf2
< | | ' g
k=] ¥ <
S E A
= X -
< S
v H —
H =Y
- <
! \
8 3= ¥
T T !
@ 04 -
0 X -
-3 -2 -1 0 1 2 3
TP n (PCA to beamline)
A N
k=] B
c c
%< <
\Y% v
8 5=
T T
o o

<dpp. > (%)

Ratio




	Contents
	Page 1


